EARAZROREIERT — 2 N—XBISY —F 2017568198 (B) 3MEKR6H

m 3C2=4# Y% 3% ‘ [x&] 2 ‘ [emsm]  — | & (&) 13000 B
[xE£] 1 %:260,000 3  2#%:52,000” ~ 3#%&:26,000MW ~ 43#%:19,000 ™  53#&:7,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
il ~rvr59am 3 | ERRS 1:25.4 6-65-3 [39.9 — | 3 | 456 f{ggiéﬁl@
LA bR —b B:5Y57 = 46) | s
ST Oy L 4 3 ;é?%ﬁ%ﬁ 1:25.7 1-1-1-1 | 41.5| — 4 460 gggrﬁ(*ﬁ)
. 1 3/4 =
L:Jq 7 hT—lbEY B:XF-—Y MUy ( ) e 1ERERS
- ;= g it 3 | EiA%RE 1:25.7 4-3-4-2 |40.9| — 1 450 | ERE (KR)
TLITZA4R * 56.16 (INF) (+16) 7JEIJE§S1§Z
RO—TRA LA BIAyIVT A e
e = . 5 4 LR . —3-3- - SRR (8%
NESTL YT~ #0 RS I IR R 2| o | ReRE
RiBALINS Ky IR BT wAET 21— hEBAS
\LAEAE: . —0_o_ _ =HFE@ (KiR)
04 Y IbE—O— o3 ik 1.(268).2 2-2-2-4 | 43.6 5 :933; ﬁlﬁaﬁi
R:Z2y)—>e—0— B:ANT— A7 7— LA
6l5l5 | 7a€y 3 i 3 32;!;#18 1:29.8 5-5-6-6 |43.6| — 6 406 f%@i (BEF)
. 10 » INBE
RTUA—Y BIRFA9I5Y (o 3 | me B
® 1—F—@EBIERL
1T=7r= 6,3,4,2,5,1
20—F— 6,3,(2,4),5,1
Ja=7= 6,3,4,2,1,5
43—+ — 6,2,1,3,4,5
[ N5
B OB 1 5600 | | 71 K 1-6 210 | | B & 1-6 1,270 | | 3:&EE 1-2-6 770M
B B 1 180M 1-2 160 B H 1-6 2,150 3EE 1-6-2 6,720
6 350 2-6 290

ABICOVWTRDTEEERROODE. TR LIV,



